
 1 

20072008

2008

       

         

 

17

1   

 

 
 

  2 220 V 100 W 

       (8h)2000 W      .(1,5 h) 

2 1E1-(wh)

      .(J)  
 

2.2E2-

 

2.3I1I2  

2.4  P3  (2,5 h)

2.5I3

 

26   

AB = 1 cm8 cmL 

   f = 4 cm A B   .
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3.2 A B  .
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  A   V1= 108km/h

1 km  BV2= 36km/h

  

t C  

  

                C         B                            A           

   .   .           .      

AB = 1 km                               
      

 

1 

2 V1V2m/s  

3  

3.11

2

V AC

V BC
BC   

3.2t

  4  

  .df  = 32 m  

 

4.1dA

4.2 

 

1

1

2

1

  
   

1

1


